EXERCISE

Taken from

Jeffrey M. Wooldridge

Introductory Econometrics: A Modern Approach, 2nd ed.

Thomson and Southwestern, 2003

Exercise 11.6, p. 385-386.

Go to my website for this course and download the EVIEWS file intqrt.wf1.  Use the file to answer the following question.  Let hy6t denote the three-month hold yield (in
percent) from buying a six month T-bill at time (t - 1) and selling it at time t (three
months hence) as a three month T-bill.  Let hy3t-1 be the three-month holding yield
from buying a three-month T-bill at time (t-1).  At time (t - 1), hy3t-1 is known, 
whereas hy6t is unknown because p3t (the price of three-month T-bills) is unknown at
time (t-1).  The expectations hypothesis (EH) says that these two different three-
month investments should be the same, on average.  Mathematically, we can write 
this as a conditional expectation:



E(hy6t | It-1) = hy3t-1 ,
where It-1 denotes all observable information up through time t - 1.  This suggests
estimating the model
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a) Test the expectations hypothesis on the data contained in the EVIEWS file
       intqrt.wf1.
b) Test that there is no significant term premium for buying assets with different
       maturities in this market.  That is, test 
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c)   Finally, test 
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